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C/C-e 7|EfH| & 2 0.00 0.00 0.00 0.00

oo Efi Tﬂfﬂjjﬁ 0.01 0.02 0.00 0.00
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THOf 2| AL 0.00 0.00 0.00 0.00
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oo EFE of T,fojrljjﬁ 0.00 0.02 0.00 0.00
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X2 At 0.06 0.15 0.06 0.15

THOR | A 0.00 0.00 0.00 0.00
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LHFALR 22| 2 AL 0.00 0.00 0.00 0.00

23 0.07 0.16 0.07 0.16
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* HEO| =XPAFE M (J|ZHE RN CHH| H| &
** J|EfH| 0|2 S| AZHAH| 8, B3 §2 OE S ZXHE § HEOM ZoH dtiedoz X|EE HE2ZM OO S/i++2= MAT AL

X GuESUY  gle

0

i

X BAYOl 42 DHEOAM 2ot HES AHHET KXot HI2W 2 ¢hEdto] gitet +=X| YLt

B H|EH| £ Bl £EXIX}7t HEE Sof £t H40 H{ 2| 58 HE =Xtik HETlo Cfst H| 2 &l & £ ASLICH
(EHR: A=kt %)
Qs Sig HE HRHE H|E oAt
SE4H|8Hlg ojof- 570 +=+=2H|& B EHEHg | Ojf-374 ==& Hlg
- e ™7 0 0 0.0025 0.0785
FEECELLRHFA =T 28
= 0 0 0.0024 0.0354
EF(Class) & szt
™7 0.8849 0 0.8875 0.0899
C/A-e
=& 0.8813 0 0.8838 0.0366
7| 1.1421 0 1.1447 0.0779
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™7 1.1913 0 1.1939 0.0781
C/C-P1
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2022-11-15 ~ 2023-02-14

20.86

2022-08-15 ~ 2022-11-14

15.33

2022-05-15 ~ 2022-08-14

19.86
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